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!$xmp nodes nd(P)
!$xmp template tp(N)

obobooooooooon

4.1.1 BlockO0O

!$xmp distribute tp(block) onto nd
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!$xmp nodes nd(3)

!$xmp template tp(0:21)

!$xmp distribute tp(block) onto p

le W N}

N T [ [ [ [ - [ [ [+ [ [+ [

w =ceil(22/3) =8
7R, & KeELEFhENR/—Fnd(1), nd(2), nd(3)=HTE
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4.1.2 CyclicO0O

!$xmp distribute tp(cyclic) onto nd
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!$xmp nodes nd(3)
!$xmp template tp(0:21)

!$xmp distribute tp(cyclic) onto p

"B DD B0 DD DD OO GO
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4.1.3 Block-cyclicO O
I$xmp distribute tp(cyclic( )) onto nd

block OO0 cyclicOOOOOOOOblockOOOOOOOODOOODODOODO
o00oo0o0o0boo0od eycdic000DOOO0OO0ODOOOODODOOOO

000000000 O000O00D0O00D00 000 ceyclicOOODOOO
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!$xmp nodes nd(3)
!$xmp template tp(0:21)

!$xmp distribute tp(cyclic(3)) onto p
Pw |
h
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4.1.4 0DOOOO
I$xmp distribute tp(gblock( )) onto nd

000000000000 0000 D00000O0 0000 nd()000O0
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!$xmp nodes nd(3)



!$xmp template tp(0:21)
integer,parameter :: W(3)=(/6,11,5/)

I$xmp distribute tp(gblock(W)) onto p

w(1) q w(2) N w(3) I
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I$xmp align b(i) with t(i+1)

00000000000000000000000000000000000
000000000000000000000000000 8000000
000000 bOOOO0100000000000000000000 t()
0000000000 a@)0 b -1)000000

4.2.2 0OO0O0O0OO

O00000000o00oo0oUo0oooooO0oOdb@)OODOOODODOO
b(i-1) 0 b(i+1) 0000000000000 0OO00OO0OOOO0OO0OOUOOOD
gboboooboooboooboobooooooobooobooobooobooon
oboooobooboooboobooooboboooboobooboobooon
gbobooobooboobooobobooboobooooooooobooooo
O00000OO0O0oooooooooooD ShadowOOOOOOOOOOO
O00pb0OO0O0010000cO00020000300000000000O
oooog

SXMPOOOODOODODOOODOODOOODOOODODOO0DO0O00D00DO0DOOO00OO
gooOooooooOoOoooOoOoOoOoOoOoOoO0oOOOOO0OO0COOO0OOOOOCOOOOOOO0n
oooooo




program programl7 I I - |
L t[1]2]3als]s]7 lsls hop
ISxmp templatet(11) — e —
I1Sxmp distribute t(block) onto p N _
real a(10),b(10),c(10) i o =
I1$xmp align a(i) with t{i) b _
1Sxmp align b(i) with t(i+1) !
1Sxmp loop ont(i)
a(i)=a(i)+1.0 : S ]
b(i-1)=a(i)
end do
print *,a
print *,b
end program program17
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program programl18

1$xmp nodes p(3)

ISxmp templatetp(0:21)

integer :: W(3)=(/8,8,6/)

I$xmp distribute tp(gblock(W)) onto p

dimension a(0:21),b(0:21),c(0:21)

1$xmp align a(i) with tp(i)

ISxmp align b(i) with tp(i)

I1Sxmp shadow b(1)

I$xmp align c(i) with tp(i)

ISxmp shadow c(2:3)

end program programl18
—_—

oo R | > | 1| 3 s 1| ] ]

(b
af0:21)_J pl2)
o |
E
b(0:21) (2
shadow b(1) _p(E}
B
cf0:21) _J pl2)
shadow c{2:3) o2}
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4.3 0O0O0OO0O0OOOO
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0000000000000000000

subroutine sub(a, b, ¢, m, 1, n)
integer m, m, 1
real a(m,1), b(1,n), c(m,n)

integer xmp_node_num

!$xmp nodes p(2)

!$xmp template t(n)

!$xmp distribute t(block) onto p
'$xmp align b(x,i) with t(i)
'$xmp align c(*,i) with t(i)

!'$xmp loop on t(j)
do j=1, n
do i=1, m
do k=1, 1
c(i,j) = c(i,j)+a(i,k)*b(k,])
enddo
enddo
enddo
if (xmp_node_num() .eq.1) print *,c(1,1)
if (xmp_node_num() .eq.2) print *,c(1,2)
if (xmp_node_num() .eq.1) print *,c(2,1)
if (xmp_node_num() .eq.2) print *,c(2,2)
return
end

program programi9

include ’xmp_lib.h’

real a(2,2),b(2,2),c(2,2)
integer xmp_node_num;

1$xmp nodes p(2)

!$xmp template t(2)

!$xmp distribute t(block) onto p
1$xmp align b(*,i) with t(i)
!$xmp align c(*,i) with t(i)
a(1,1)=1.0

a(1,2)=2.0

a(2,1)=3.0

a(2,2)=4.0

if (xmp_node_num() .eq.1) b(1,1)
if (xmp_node_nun() .eq.2) b(1,2)
if (xmp_node_num() .eq.1) b(2,1)
if (xmp_node_nun() .eq.2) b(2,2)
if (xmp_node_num() .eq.1) c(1,1)
if (xmp_node_num() .eq.2) c(1,2)
if (xmp_node_num() .eq.1) c(2,1)
if (xmp_node_num() .eq.2) c(2,2)
call sub(a,b,c,2,2,2)

end program programl9
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program program20
I1Sxmp nodes p(4)

real a(100,200),b(100,200)
ISxmp templatet1(100)
I1Sxmp distribute t1{block) onto p
ISxmp align b(l,*) with t1(i) b(100,200)
I1Sxmp template t2(200)
I1Sxmp distribute t2(block) onto p
ISxmp align a(*,j) with t2(j)
end program program20

a(100,200)
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subroutine sub(a, b, ¢, m, 1, n)
integer m, n, 1
real a(m,1), b(1,n), c(m,n)

integer xmp_node_num

1$xmp nodes p(2)

'$xmp template t(n)

1$xmp distribute t(block) onto p
1$xmp align a(*,i) with t(i)
1$xmp align b(i,*) with t(i)

!$xmp loop on t(k) reduction(+:c)
do k=1, 1
do i=1, m
do j=1, n
c(i,j) = c(i,j)+ali,k)*b(k,j)
enddo
enddo
enddo
if (xmp_node_num() .eq.1) then
print x,c(1,1)
print x,c(1,2)
print x,c(2,1)
print *,c(2,2)
endif
return
end

program program19
include ’xmp_lib.h’

real a(2,2),b(2,2),c(2,2)
integer xmp_node_num;

!$xmp nodes p(2)

!$xmp template t(2)

'$xmp distribute t(block) onto p
'$xmp align a(*,i) with t(i)
'$xmp align b(i,*) with t(i)
if (xmp_node_num() .eq.1)a(1,1)
if (xmp_node_num() .eq.2)a(1,2)
if (xmp_node_num() .eq.1)a(2,1)
if (xmp_node_num() .eq.2)a(2,2)
if (xmp_node_num() .eq.1) b(1,1
if (xmp_node_num() .eq.1) b(1,2
if (xmp_node_num() .eq.2) b(2,1
if (xmp_node_num() .eq.2) b(2,2
c(1,1)=0.0

c(1,2)=0.0

c(2,1)=0.0

c(2,2)=0.0

call sub(a,b,c,2,2,2)

end program programi9
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